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4. Wheat stone bridge is balanced.
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Symmetric circuit
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In balance condition

12 × 40  = x 60 

 8x

8. For power maximum

 r
max

P = i2r

9. Potential gradient does not depend on area

of cross section.

10.
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Output can be taken across the terminals A

and C or B and C.
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12. C

13. G2

G1

Ammeter

Voltmeter

E

14. Jayega to Ayega kahan se isliye zero hai.
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16. Error Ka sawal hai. [JEE 2005]
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For error
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17. R = 
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18.
a

y (100 � y)

2 x

2x

G

(80 � y) 
(y + 20)

x > 2

2(100 � y) = xy ...(1)

x (80 � y) = 2(y + 20) ...(2)

19. For R
1

Wheat stone Bridge

R
1
 = 1

for R
2
 = 0.5 

for R
3
 = 2

Power P = 
R
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P
2
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1
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20. n.d.

R.B.
x

G

If x & null deflection remains same R.B. should

increase.

21. R
total
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   (D) When R
1
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2
 are interchanged 
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Earlier it was 9V

P  V2
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Since Pot. difference decreases three times

therefore, power dissipated will decreases 9

times.

22. R = 
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23. P = 
R
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 & 100 W > 60 W > 40 W
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26. B

 = 52 + 1 = 53

 = 48 + 2 = 50

X 10

52 48
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530
 = 10.6 ohm

27.
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= 5 V

28.

By symmetry the 1 resistances don't get any

current so circuit reduces to
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